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I.  (A) Give the difference between Management Accounting and Financial Accounting. 1

(B)

(C)

OR
Discuss the limitations of Management Accounting.

Calculate the planning and operational variances from the following information : 4
(i) Standard cost of product *a™ T 80 per uni,
(11) Actual cost incurred T 6,00,000 on the production of 5000 units of product
"
(iii)) Review of standard cost resulting in an opinion that the standard is an
under-estimate 1o the extent of ¥ 50,
OR
The budget to Priyanka Lid, for the year 2014 is to produge and sell 1000 units of
a product. Production of | unit takes 5 hours. The material cost per unit is ¥ 30
and labour costis T 20 (for 5 hours). The budgeted sales price is ¥ 60 per unit.
The production department actually worked for 5000 hours and produced
950 units.
Compute the opportunity cost of efficiency vanance.

Answer any one of the following :
(1) Briefly explain Planning variances.
(2) Briefly explain Operating variances.

2. The following details have been taken from the books of Misha Lid. for the year ended .

on 31™ March, 2014 :

4
Direct Malcrials 6,00,000
Direct Wages 4,00,000
Direct Expenses 80,000

Factory Overheads (50% Variable) 1,50,000
Administration Overheads (Fixed) 1,70,000
Selling Overheads (60% Varisble) - 1,40,000

Profit
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2,60,000
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'I;hc forecast for the next year as under for the year ending 31-3-2015.
‘,) Sales volume will increase by 40%, but the sclling pnce will be reduced by 207,
(2)  The raw matenal prices will rematn unchanged but bevause of increased purchase

a quantity discount 5% v ill he obtained.

(3) Direct wages, fﬁl‘tﬂ expenses, vanable factory overheads and vanable sclhing
overhcads will Increase in proportion to sales volume.

(4) Wages and variable factory overheads will further go up by 15% for increasein
rates.

(5)  Fixed Factory Overhieads, Fiaed Administration overheads and Fived sclling

overheads will increase by ]3-;-!'._ 25% and 20°% respectively.

(6) There will be no stock of work in progress and Ninished goods in the beginning or
end of the year.
You are required to prepare a budget for the year ending 31™ March, 2015
and find out budgeted profit.
OR
(A) Tejal Lud. produces two products “M™ and “N™. There are two sales division
“East™ and “"West". Budget sales for the year ending 31™ December, 2014 were as

follows : 7
id p l’ ' Selling Price
. Units Per Unit (Y)
East : M 40000 25
N 30000 15
West : M 28000 25
N 42000 15
Actual sales for the above said period were as follows :
Products East Division West Division

M 45000 units st ¥ 2Seach 30000 units at T 25 ecach
N 36000 units at T 1Scach 46000 units at T 15 cach

On the basis of the assessment of the Salesmen, the following sales estimates
werc made for the next budget period 2015.

East Division : B |

Product “M". Budget sales will increase by 50% over 2014 budget.

Product “N", Budget sales will increasc by 25% over 2014 budget.

Product “M", B'udrt sales will increase by 20% over 2014 budget.
10% over 2014 budget.

Product “N", Budget sales will increase by 4 bu -
Ilwﬁ:ﬂﬂdecidedthlmmﬂsivcsdumpugnmtheE:anMu
8000 units of cach products.

(B) Answer any
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(C) Answer any one of the following :
(1) Bnefly explain Capital Budget.
2) Bnefly explain any three advantages of Budgetary Control.

3. The following particulars are obtained from the records of Gaurang Ltd.

4

Raw Materials -
(8kg. at T S per kg.)
(8kg. at T 6 perkg.)
Direct Labour :

(10 hours at ¥ | per hour)
(8 hours at T 1.50 per hour)
Factory Overheads :
Variable

Particulars

 CostPerUnit |
g z

(10 hours at T 2 per hour) 20
(8 hours at ¥ 3 per hour) 24

Fixed : |
(per unit)

3 4
Total Cost P4 7. '

Selling Price (per unit) T o | 120
Sales (units 70000~ | 80000

You are required to calculate all wvariances and also prepare reconciliation

statement of Budgeted and Actual profit.

(A)

(B)

(©)

4. A
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OR
Explain the Dual Plan System of recording vaniances.

Answer any osie of the following : o
(1) Explain in brief single plan method of recording vanances.
(2) Explainin brief partial plan method of recording vanances.

Answer any one of the following :
(1)  Explain in brief difference between Budgeted cost and Standard cost.

(2) Briefly explain the meaning of the term “Variance Analysis”.
ddliledsystmofmﬂudwstingﬁrﬂsﬂNﬂwmsIof

iyati Ltd. using a HanGar con
z?::ing of variance is ¥ 25,000. If after investigation an out of control situation

OR
14



(A) Explain various models of in estigation of variances in brief. 7

(B) Answer any ome of the following ’

(1) Explain interdependence between vanances.
(2) Explain Inflation and Price variance.

(C) Answer any one of the foll

| owing :
(1) Explain controllable and uncontrollable variances in brief.
(2) Mention the causes responsible for Matenal Price Variance.

5. For each of the following sub-questions, more than onc answers are given, out of which
only one answer is cormrect. Select the comrect answer. Give necessary calculation or
4

(2)

(3)

(4)

(5)

explanation.

(1) Management accounting is an extension of
(a) Cost Accounting (b) Financial Accounting
(c) Financial Management : (d) ‘None of these

As per Indian Companies Act, is obligatory.
(a) Financial Accounts (b) Cost Accounts
(c¢) Management Accounts (d). Noneof these

Planning variance =

(a) Original Standards - Revuedw
(b) Revised Standards - Actual Result

(¢) Original Standards - Actual Result

(d) None of these

Planning department of a company set a standard marginal cost of its product is
€ 300 per unit. During a month, when 6000 units were made, its actual production

costs amounted 1o T 21,00,000. But management estimated that a more realistic
standard for current conditions should be ¥ 375 per unit. Operating variance will

be
(a) ' ¥ 1.50,000 (F) (®) ¥1,50,000 (V)

(c). € 3,00,000 (V) (d) None of these

In & flexible budget format, the depreciation at the output level of 6000 units is
¢ 18,000, the depreciation per unit at 7,500 unit level would be

(@) T3 b) T24

(c) T1.33 (d) None of these

Master budget is also knownas ___ . -
budget ) Summary budget

- (d) None of these

(c) Sales budget
15 P.T.O.



overheads are ¥ 40,000 and at 80% capacity Jey,

factory overheads are T 50,000.

above amount would be
(a) ¥ 50,000 (b) T 10,000
(¢) T 40,000 (d) Nonc of these

(8) The responsibility for preparation of sales Budget of the company is on
(a) Budget Expert (b) Sales Manager
(d) None of these

(c) Accountant

(9) Matenal Cost Variance =
(a) Material usage variance + Matenial yield Vanance
(b) Material price variance + Matenial yield vanance
(c) Material price variance + Material usage variarice
(d) None of these

(10) Labour cost variance is the difference between
(a) Standard labour cost and Actual labour cost
(b) Fixed labour cost and Variable labour cost
(c¢) Estimated labour cost and Standard labour cost

(d) None of the above

(11) The budgeted fixed overheads for a budgeted production of 15000 units is
¥ 60,000. For a that period the actual production was 16000 units and actual
expenditure came to T 68,000, Then the Fixed overhead volume variance is

(a) ¥ 4,000 (F) (b) T4,000(V)

(c) T8,000(F) (d) None of the above
(12) Which of the following is cost-variance investigation model ?

(a) - Profit-Volume Model (b) Control Charts Model

(c) Material Control Model (d) None of the above
(13) In the formula C < (1-P)L, “C" denote for

(a). Cost of corrective measures (b) Cost of investigation

(¢) Cost of control (d) None of the above

(14) CUSUM chart is used for
(a) Statistical Significance Model (b) Control Charts Model
(c) Matenality Significance Model (d) None of the above



